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i. ;g iz”u i= ik¡p [k.Mksa esa foHkkftr gS& [k.M d] [k.M [k] [k.M x] [k.M ?k ,oa [k.M M- A bl iz”u
i= esa dqy 13 iz”u gSaA

ii. lHkh iz”u vfuok;Z gSa] ;|fi dqN iz”uksa esa vkarfjd p;u miyC/k gSA muesa esa ls fdlh ,d iz”u dks gh
djasA

iii. iz”uksa ds  lkeus muds fu/kkZfjr vad fy[ks gq, gSaA
iv. [k.M d ¼iz”u la[;k 1 ls 5 rd½ esa 2 vad okys vfr y?kq mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 40 “kCnksa

ls vf/kd ugha gksus pkfg,A
v. [k.M [k ¼iz”u la[;k 6 ls 8½ esa 3 vad okys y?kq mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 80 “kCnksa ls vf/kd

ugha gksus pkfg,A
vi. [k.M x ¼iz”u la[;k 9 ,oa 10½ esa 5 vad okys vfr nh?kZ mÙkjh; iz”u gSaA izR;sd iz”u ds mÙkj 120 “kCnksa

ls vf/kd ugha gksus pkfg,A
vii. [k.M ?k ¼iz”u la[;k 11 ,oa 12½ esa lzksr vk/kkfjr iz”u gSaA izR;sd iz”u 4 vadksa dk gSA

viii. [k.M M- ¼iz”u la[;k 13½ esa ,d ekufp= vk/kkfjr iz”u ¼3 vadksa dk½ gSA blds nks Hkkx&13.1 bfrgkl ¼1
vad½ vkSj 13.2 Hkwxksy ¼2 vad½ gSaA

ix. ekufp= vk/kkfjr iz”u la[;k 13 ds LFkku ij n`f’Vckf/kr fo|kfFkZ;ksa ds fy, vyx ls Ikz”u fn, x, gaSA
General Instructions: 
i. The question paper is divided into five sections- Section A, Section B, Section C ,Section D and Section

E. The question paper has 13 questions in all.
ii. All questions are compulsory, however internal choices are given in some questions. Attempt any one of

them.
iii. Marks are indicated against each question.
iv. Section A: Questions from serial number 1 to 5 are very short answer type questions of 2 marks each.

Answer of these questions should not exceed 40 words each.
v. Section B: Questions from serial number 6 to 8 are short answer type questions of 3 marks each. Answer

of these questions should not exceed 80 words each.
vi. Section C: Questions from serial number 9 and 10 are long answer type questions of 5 marks each.

Answer of these questions should not exceed 120 words each.
vii. Questions from serial number 11 and 12 are source based question, carrying of 4 marks each.

viii. Question number 13 is a map based question of 3 marks with two parts-13.1 from history (1 mark) and
13.2 from Geography (2 marks)

ix. Separate questions are given for visually impaired student only in lieu of map based question no.13.
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 [k.M d 
Section A 

2X5=10 

1 ued ij dj vkSj mlds mRiknu ij ljdkjh btkjsnkjh dks egkRek xka/kh us fczfV”k 
“kklu dk lcls neudkjh igyw D;ksa crk;k Fkk\ 

Why did Mahatma Gandhi declare the tax on salt and the 
government monopoly over its production revealed the most 
oppressive face of British rule? 

2 

2 eku yhft, vkidks fnYyh ls dksydkrk vkikrdkyhu fpfdRldh; lgk;rk gsrw tkuk 
gSA  bl izdkj dh vkikrdkyhu fpfdRldh; ifjfLFkfr;ksa esa ifjogu dk dkSu &lk 
lk/ku vkids fy, vf/kd mi;qDr gksxk vkSj D;ksa\ 
Suppose you have to travel to Kolkata from Delhi to avail medical services in 
an emergency situation. Which means of transport do you think is 
appropriate to travel in such a medical emergency situation and why?  

2 

3 feyku dhft,%& 
 LRkaHk d  LRkaHk [k 

(i) jk’Vªh; turk ny A jk’Vªh; ny 

(ii) vkWy bafM;k Rk`.kewy dk¡xzsl B xSj & ljdkjh laLFkku 

  C jkTTkh; ny @{ks=h; ny 

Match the following:-  

 Column A  Column B 
(i) Rashtriya Janata Dal A National Party 

(ii) All India Trinmool Congress B Non – Governmental 
Organisation 

  C State Party/ Regional 
Party 

  

2 

4  
crkb, vki fuEufyf[kr esa ls fdl lzksr ls _.k ysuk ilan djsaxs ,oa D;kaas\ 
lzksr 1 

(i) C;kt dh nj  vfuf”pr 

(ii) le;kof/k vfuf”pr 

(iii) _.k okilh dh izfØ;k vfuf”pr 
lzksr 2 

(i) C;kt dh nj fuf”pr 

(ii) le;kof/k fuf”pr 

(iii) _.k okilh dh izfØ;k fuf”pr 
 
 
 

2 



From which of the following sources you would like to take loan and why? 
Source 1 

(i) Rate of Interest Not Fixed 

(ii) Tenure Not Fixed 

(iii) Process of returning 
loan 

Not Fixed 

Source 2 

(i) Rate of Interest Fixed 

(ii) Tenure Fixed 

(iii) Process of returning 
loan 

Fixed 

  

5 Ik;kZoj.kh; fuEuhdj.k dks jksdus ds dksbZ nks mik; crkb,A 

Mention any two ways to prevent the environmental degradation. 
2 

 [k.M [k 
Section B 

3X3=9 

6 fons”k O;kikj ,oa fons”kh fuos”k ds mnkjhdj.k ls vki D;k le>rs gSa\ 
vFkok  

oS”ohdj.k dh izfØ;k esa cgqjk’Vªh; dEifu;ksa dh Hkwfedk dk fo”ys’k.k dhft,A 
 What do you understand by liberalization of Foreign Trade and 
Foreign investment? 

OR 
Analyse the importance of Multinational Corporations (MNCs) in 
the globalisation process. 
  

3 

7 ^vlg;ksx vkanksyu^ “kgjksa eas /khjs & /khjs ean D;ksa iM+us yxk\ Li’V dhft,A 
Why did the Non-Corporation Movement gradually slowdown in 
the cities? Explain. 

3 

8 ^O;fDr dh xfjek ,oa Lora=rk dks c<+kok nsus esa Ykksdrkaf=d O;oLFkk fdlh Hkh vU; 
“kklu iz.kkyh ls dkQh vkxs gSA^ foospuk dhft,A 
“Democracy stands much superior to any other form of 
government in promoting dignity and freedom of the individual”. 
Justify.  
 

3 

 [k.M x  
Section C 

5X2=10 

9 ^jktuhfrd ny] yksdra= dh vko”;d “krZ gaS^A mi;qDr rdksZa ds ek/;e ls dFku dks 
Li’V dhft,A 

vFkok 
fdlh ,d jk’Vªh; ny ds fopkj/kkjkRed rRoksa ,oa uhfr;ksa  dk mYys[k dhft,A 

“Political parties are necessary condition for democracy.” Explain this 
statement with appropriate arguments. 

OR 

5 



Mention the ideological elements and policies of any one National Party. 

10 lk[k ls vki D;k le>rs gSa\ lk[k fdl izdkj laifÙk ,oa _.ktky nksuksa dh Hkwfedk 
fuHkk ldrk gS\ mnkgj.k lfgr O;k[;k dhft,A 

vFkok 
^lk[k dh “krksZa^ ls vki D;k le>rs gSa\ ;g  vyx & vyx yksxksa ds fy, fdl izdkj 
fHkUu gks ldrh gSa\ 
What do you understand by credit? How can credit be both an asset as well 
as a debt trap? Explain with examples. 

OR 
What do you understand by ‘Terms of Credit’? How it may vary from person 
to person? 

 

5 

 [k.M ?k 
Section D 

4X2=8 

11 uhps fn, x, vuqPNsn dks if<+, ,oa iwNs x, iz”uksa ds mÙkj nhft,A 

^lR;kxzg 'kkjhfjd cy ugha gSA lR;kxzgh vius 'k=q dks d"V ugha igq¡pkrk A  og vius 
'k=q dk fouk'k ugha pkgrkA ---lR;kxzg ds iz;ksx esa nqHkkZouk ds fy, dksbZ LFkku ugha 
gksrkA ^lR;kxzg rks 'kq) vkRecy gSA lR; gh vkRek dk vk/kkj gksrk gSA blhfy, bl 
cy dks lR;kxzg dk uke fn;k x;k gSA vkRek Kku ls ges'kk ySl gksrh gSA blesa I;kj 
dh ykS tyrh gS---A vfgalk loksZPp /keZ gS---A ^blesa dksbZ lansg ugha fd Hkkjr 
fouk'kdkjh 'kL=ksa ds ekeys esa fczVsu ;k ;wjksi dk eqdkcyk ugha dj ldrkA vaxzst ;q) 
ds nsork dh mikluk djrs gSaA os lc gfFk;kjksa ls ySl gks ldrs gSa] gksrs tk jgs gSaA 
Hkkjr eas djksM+ksa yksx dHkh gfFk;kj ysdj ugha py ldrsA mUgksaus vfgalk ds ekxZ dks 
vkRelkr~ dj fy;k gS---A* 

 

11-1 loksZPp /keZ D;k gS\ 1 
11-2 vaxzst fdldh mikluk djrs gSa\ 1 
11-3 lR;kxzg esa “kkjhfjd cy dk LFkku D;ksa ugha gS\ 2 
 Read the text and answer the following questions. 

Satyagraha is not physical force. A satyagrahi does not inflict pain on the 
adversary; he does not seek his destruction … In the use of satyagraha, 
there is no ill-will whatever.‘ Satyagraha is pure soul-force. Truth is the very 
substance of the soul. That is why this force is called satyagraha. The soul 
is informed with knowledge. In it burns the flame of love. … Nonviolence is 
the supreme dharma … ‘It is certain that India cannot rival Britain or 
Europe in force of arms. The British worship the war-god and they can all of 
them become, as they are becoming, bearers of arms. The hundreds of 
millions in India can never carry arms. They have made the religion of non-
violence their own ...’  
 

 

11-1 What is supreme Dharma?  1 
11-2 What is worshipped by the British? 1 
11-3 Why is there no place of physical force in Satryagraha?. 2 
   



12 uhps fn, x, vuqPNsn dks if<+, ,oa iwNs x, iz”uksa ds mÙkj nhft,A 

‘बŠत समय तक ʩापार तथा पįरवहन सुिवधा एक सीिमत Ɨेũ तक ही िकया जाता 
था। िवǒान तथा izks|kSfxdh के िवकास के साथ ʩापार और पįरवहन के Ůभाव 
Ɨेũ मŐ िवˑृत वृİȠ Šई है। सƗम व तीŴ गित वाले पįरवहन से आज संसार ‘एक बड़े गाँव’ मŐ 
पįरवितŊत हो गया है। पįरवहन का यह िवकास संचार साधनो ं के िवकास की सहायता से ही 
संभव हो सका है। इसीिलए पįरवहन , संचार व ʩापार एक दूसरे के पूरक gSaA आज भारत 

अपने िवशाल आकार  ,िविवधताओं, भाषाई तथा सामािजक व सांˋृितक बŠलताओ ं के 
बावजूद संसार के सभी Ɨेũो ंसे सुचाŝ ŝप से जुड़ा Šआ है। jsy ifjogu] ok;q ifjogu] 
ty ifjogu] lekpkj i=] jsfM;ksa Vsfyfotu] flusek ,oa baVjusV vkfn 
lkekftd& vkfFkZd izxfr esa lgk;d gSaA ̾थािनक से अंतराŊ Ō̓ ीय ˑरीय ʩापार ने 

अथŊʩव̾था को जीवन शİƅ दी है। इसने हमारे जीवन को समृȠ िकया है तथा आरामदायक 
जीवन के िलए सुिवधाओ ंव साधनो ंमŐ बढ़ोतरी की है। 

12-1 lalkj ,d cM+s xkao ds :Ik essa fdl izdkj ifjofrZr gks x;k gS\ 1 
12-2 O;kikj gekjs thou dks dSls le)̀ djrk gS\     1 
12-3 ifjogu] lapkj o O;kikj ,d nwljs ds iwjd D;ksa gSa\  2 

 Read the text and answer the following questions. 
‘For a long time, trade and transport restricted to a limited space. With the 
development in science and technology the area of influence of trade and 
transport expanded far and wide. Today, the world has been converted into a 
large village with the help of efficient and fast moving transport. Transport has 
been able to achieve this with the help of equally developed communication 
system. Therefore, transport, communications are complimentary to each other. 
Today, India is well linked with the rest of the world despite its vast size, 
diversity and linguistic and socio- cultural plurality. Railways, airways, water 
ways, newspapers, radio, television, cinema and internet etc. have been 
contributing to its socio-economic progress in many ways. The trades from 
local to international levels have added to the vitality of its economy. It has 
enriched our life and added substantially to growing amenities and facilities for 
the comforts of life. 

 

12-1 How has the world been converted into large village?  1 
12-2 How does trade enrich our life?  1 
12-3 Why are transport, communication and trade complementary to each other?  2 
 [k.M M- 

Section E 

1X3=03 

13-1 Hkkjr  ds jktuhfrd js[kk ekufp= esa A fcUnq vafdr fd;k x;k gSA bl fcUnq dks 

fuEufyf[kr tkudkjh dh lgk;rk ls igpkfu, vkSj mldk lgh uke ekufp= ij 

[khpha x;h js[kk ij fyf[k,A   

1 



A. og LFkku tgk¡ flrEcj 1920 esa Hkkjrh; jk’Vªh; dkaxzsl dk vf/kos”ku gqvkA 

On the given outline political map of  India, a place has been marked as A, 

identify the place with the help of following information and write its correct 

name on the line marked near it.  

A. Name the place where  Indian National Congress organised its session in 

September 1920.  

13-2 Hkkjr ds mlh jktuhfrd js[kk ekufp= esa fuEUkfyf[kr dks mi;qDr fpUgksa ls n”kkZb, 

vkSj uke fyf[k,&  

(I) N=ifr f”kokth varjkZ’Vªh; gokbZ iÙku 
 vFkok 

psUubZ iÙku 

(II)gSnjkckn lk¶WVos;j VsDuksykWth ikdZ 

Locate and label the following with appropriate symbols on the same outline 

political map of India.  

(I) Chhatrapati Shivaji International Airport 

           OR 

      Chennai Port 

(II) Hyderabad Software Technology Park 

fuEufyf[kr iz”u] iz”u la[;k 13-1 ds LFkku ij dsoy nf̀’Vckf/kr fo|kfFkZ;ksa ds fy, 

gSA 

A. ml LFkku dk uke fyf[k, tgk¡ dkaxzsl us flrEcj 1920 esa vf/kos”ku vk;ksftr 

fd;kA 

Following question is only for visually impaired students in lieu of question 

number 13.1.  

2 



A. The place where Congress organized its session in September 1920. 

 

fuEufyf[kr iz”u] iz”u la[;k 13-1 ds LFkku ij dsoy nf̀’Vckf/kr fo|kfFkZ;ksa ds fy, 

gSA¼dksbZ nks gy dhft,½ 

i. ml jkT; dk uke fyf[k, tgk¡ N=ifr f”kokth varjkZ’Vªh; gokbZ iÙku fLFkr 

gSA 

ii. ml jkT; dk uke fyf[k, tgk¡ psUubZ iÙku fLFkr gSA 

iii. ml jkT; dk uke fyf[k, tgk¡ gSnjkckn lk¶WVos;j VsDuksykWth ikdZ fLFkr 

gSA 

Following questions are only for visually impaired students in lieu of question 
number 13.2. (Attempt any Two) 

i. Name the state where Chhatrapati Shivaji International Airport is located. 

ii. Name the state where Chennai Port is located. 

iii. Name the state where Hyderabad Software Technology Park is located. 

 


